
17th International Solving Contest 2021 Cat 1 (24.01.2021) 

Problems Difficulty (49  Solvers)  

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution) 

12 S#6 756 1.22 12 0 8 29 

5 #4 706 1.47 13 2 16 18 

4 H#4.5 582 2.09 12 17 1 19 

3 + 576 2.12 17 11 13 8 

6 S#3 552 2.24 17 7 11 14 

2 #3 508 2.46 16 12 14 7 

10 H#3 478 2.61 17 17 1 14 

11 #10 470 2.65 26 0 16 7 

9 = 420 2.90 23 12 9 5 

8 #3 298 3.51 27 10 10 2 

1 #2 20 4.90 48 0 1 0 

7 #2 20 4.90 48 0 1 0 
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1) #2 Piatesi 1. Qa7!  

2) #3 Hannelius 1. Be7!  

wrong keys: 1.Qc4? 4x, 1. Sg5? 3x 

 missing variations: fxe4 6x, Bc5 4x, Bb4 4x, Bxe7 4x, Bb8 3x, Bc7 1x 

3) eg Bron 1.Kg4!  

 wrong moves: 1.Re8? 5x, 1.Rb7? 4x, 1. d6? 2x, 2.Kxg5? 6x, 2. Re8? 4x  

4) H#4,5 Jones  1… Rc6+   1. … Rb7  

 17 solvers with 1 sol: only Rc6 13x, only Rb7 4x  

5) #4 Labai 1. Bf3!  

wrong keys: 1.Sf6? 5x, 1.Qf2? 5x, 1.g7? 3x  

 missing variations: Sd5 2x  

6) s#3 Nikoletic 1. Sa6! wrong keys: 1. Ba3? 8x 

 missing variations: Kd5 5x, Rxg4 1x, Sf4 1x, thr. 1x  

 

 



7) #2 Sydenham 1. Sd7!  

8) #3 Künzelmann, Zucker 1. Kb6!  

wrong keys 1. Bd7? 9x  

 missing variations: f3 10x, Se3 3x  

9) eg Maksimovskikh, Shupletsov 1. Rb1!  

 wrongs moves: 1. d6? 8x, 2. e8S? 2x, 3.e8S? 3x, 5…Kd6? 4x  

10) h#3 Skerlovnik 1. Ra5  1. Bd4  1. Kd4  

 6 solvers with 2 sol: Bd4/Kd4 3x, Bd4/Ra5 2x, Ra5/Kd4 1x  

 11 solvers with 1 sol: Kd4 5x, Bd4 5x, Ra5 1x  

        all sol. with Bd4: 27, with Kd4 26, with Ra5 21  

11) #10 Kozdon 1. Rc7!  

 wrong moves: 6. Be5? 9x 

12) s#5 Swindley 1. d5!  

 wrong keys: 1. Sa4? 5x     

  



 

17th International Solving Contest 2021 Cat 2 (24.01.2021) 

Problems Difficulty (112  Solvers)  

ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution) 

10 #5 902 0.49 11 0 55 46 

11 = 824 0.88 13 16 57 26 

12 S#2 784 1.08 15 15 32 50 

6 H#2 728 1.36 14 33 24 41 

9 #3 706 1.47 27 11 40 34 

3 #3 650 1.75 34 8 47 23 

4 #4 580 2.10 47 0 29 36 

5 = 564 2.18 41 35 13 23 

2 #2 562 2.19 49 0 58 5 

8 #3 508 2.46 53 4 32 23 

1 #2 438 2.81 63 0 43 6 

7 #2 276 3.62 81 0 18 13 
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1)  #2 Carpenter 1. Qg5!  

 wrong keys: 1. Rf1+? 7x, 1.Bg1? 6x, 1. Rc3+? 4x  

2) #2 Karge 1. Qd3!  

 wrong keys: 1.d4? 25x, 1.Rxc4? 8x, 1.b7? 5x  

3) #3 Casa 1. Bd2!  

 wrong keys: 1. d7? 20x, 1.Bc3+? 13x, 1.Rf3? 4x, 1.Kc5? 4x  

 missing variations: Ke6 4x, Kd6 3x, Kd4 2x  

4) #4 Moser 1. Qa2!    

 wrong keys: 1. Be3? 21x, 1. Se5? 3x, 1.Qf1? 3x  

5) eg Vasischikov 1. g6!  

 wrong moves: 1. Bf2+? 8x, 2. Bg3? 18x, 2. Bf6? 7x, 2. Bf2+? 3x  

6) H#2 Persson 1. Sb7, 1. Sd5  

  33 solvers with 1 solution: only Sb7 30x, only Sd5 3x  

 



7) #2 Denkovski 1. Rg6!  

 wrong keys: 1. Re2? 5x  

8) #3 Cheron 1. Rh8!  

 wrong keys: 1.Rg7? 21x, 1. Se6? 3x  

 missing variations: thr. 4x 

9) #3 Hoffmann 1. Qc8!  

 wrong keys: 1. Be8? 11x, 1.Qd7? 5x, 1. Qb7+? 5x, 1.Be5? 3x  

 missing variations: thr. 9x, Ra6 6x, Rh6 2x 

10) #5 Tuxen 1. Re1!  

 wrong keys: 1.Ke3? 14x, 1.Bf6? 6x, 1.Bc3? 5x, 1.Bh8? 5x, 1.Re4? 5x, 1.b6? 4x    

11) eg Kiyukin 1. Bd7+!  

 wrong moves: 1.Se4? 51x, 1.Bf5? 3x, 2…d1Q? 9x  

12) S#2 Jensen 1.Rf6!  

 wrong keys: 1. Ba3? 5x, 1. Bb2? 3x, 1. Bd2? 3x, 1.Rd6? 3x, 1.Re5? 3x, 1.Rh6? 3x  

  



17th International Solving Contest 2021 Cat 3 (24.01.2021) 

Problems Difficulty (265  Solvers)  

ID Tag Difficulty Average 
5(Correct 
Solution) 

0 < 
Pts. < 

5 

0 (Wrong 
Solution) 

- (No 
Solution) 

5 #3 842 0.79 37 10 107 111 

4 #2 778 1.11 59 0 154 52 

6 + 758 1.21 51 35 73 106 

3 #2 690 1.55 82 0 147 36 

1 #2 494 2.53 134 0 100 31 

2 #2 422 2.89 153 0 99 13 
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1)  #2 Fitch 1. Bg1!  

 wrong keys: 1.Kb4? 27x, 1.Qf4? 19x, 1.Qe3? 13x. 1.Kb5? 13x  

2) #2 Bartolovic 1. Bg4! 

 wrong keys: 1.Bf3? 44x, 1. Ra2? 21x, 1.Ra1? 12x 

3) #2 Bottacchi 1. Rc4!  

 wrong keys: 1.Kg7? 67x, 1. Rc5+? 18x, 1.f6? 11x, 1.Ke7? 10x  

4) #2 Sizonenko 1. Qe1! 

 wrong keys: 1.Kg5? 23x, 1.Sb5+? 18x, 1.Sd5+? 16x, 1.Ra6? 13x, 1. Rxc5+? 12x,  

   1.Se2+? 10x, 1.Qd1? 9x, 1.Qg1? 9x, 1.Sc6+? 8x, 1.Kh5? 6x     

5) #3 Lubton 1. Ba8!  

 wrong keys: 1. Qa3? 25x, 1.Bc6? 16x, 1. d5? 16x, 1.Qe1? 10x   

 missing variations: e5 5x, d5 5x, both 18x    

6) eg Botev 1. Rh8+!  

 wrong moves: 1.Rh1? 44x, 1. Rc4? 8x, 1. Rh7? 6x, 1.Re4? 5x  


